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LÃ[˝”Ã[˝› ◊X„V¤` / Important Instruction 

%ÁGÁ]› ◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘ÁÃ^ (T.E. Exam.) XT«ˆX [˝Ó[˝ÿöˆÁ %UÔÁd Y“`¬ac˜ =w¯Ã[˝ Y«◊ÿôˆEıÁ (QPAB) Y“[˝Tˆ¤X EıÃ[˝Á c˜„[˝* 
Ac˜O XT«ˆX [˝Ó[˝ÿöˆÁÃ[˝ aÁ„U YÃ[˝›l˘ÁUfi„VÃ[˝ %\ˆÓÿöˆ EıÃ[˝ÁÃ[˝ LXÓ [˝Tˆ¤]ÁX %X«`›_X Y‰y Y“◊Tˆ◊ªRÙO Y“‰`¬Ã[˝ ◊X„V¤` %X«^ÁÃ^› 
◊X◊V¤rÙ ÿöˆÁ„Xc˜O =w¯Ã[˝ ◊V„Tˆ c˜„[˝* 
New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the 
coming Term End Examination. To get the candidates acquainted with the new system, 
now assignment answer is to be given in the specific space according to the instructions. 

Detail schedule for submission of assignment for the 
BDP Term End Examination December-2019 & June-2020 

1. Date of Publication : 14/02/2020 

2. Last date of Submission of answer script  by the student to the study 
centre : 07/03/2020 

3. Last date of Submission of marks by the examiner to the study centre : 08/04/2020 

4. Date of evaluated answer scripts distribution by the study centre to 
the students (Students are advised to check their assignment marks 
on  the evaluated answer scripts and marks lists in the study centre 
notice board. If there is any mismatch / any other problems of marks 
obtained and marks in the list, the students should report to their 
study centre Co-ordinator on spot for correction. The study centre is 
advised to send the corrected marks, if any, to the COE office within 
five days. No changed / correction of assignment marks will be 
accepted after the said five days. 

 
 
 
 
 
 
: 18/04/2020 

5. Last date of submission of marks by the study centre to the 
Department of C.O.E. on or before 

 
: 20/04/2020 

 
 
 
 
 

 

AFÁ„X ◊EıªK«˜ ◊_F„[˝X XÁ 
Do Not Write Anything Here   
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1. Â^-ÂEıÁ„XÁ V«'◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX (Y“◊Tˆ◊ªRÙO %X◊W˝Eı 300 `„å) f 20 × 2 = 40 

 Answer any two questions (not more than 300 words each) : 

a) AEı◊ªRÙO a+…SÔ Eı◊+=ªRÙOÁ„Ã[˝Ã[˝ ◊[˝◊\ˆ~ ^‹óˆÁe„`Ã[˝ Y…SÔÁÜ ◊[˝[˝Ã[˝S ◊VX * c˜ÁQÔˆ ◊Qˆïı C Z¿ı◊Y ◊Qˆïı-AÃ[˝ ]„W˝Ó Eı› 

Eı› YÁUÔEıÓ ? 15 + 5 
 Give a detailed description of the different parts of a computer system. What are the 

differences between Hard disk and Floppy Disk ? 

b) =c˜OX„QˆÁL ( WINDOWS ) %YÁ„Ã[˝◊ªRÙOe ◊a‰∫RÙO] a+„EÔı AEı◊ªRÙO Y…SÔÁÜ ◊[˝[˝Ã[˝S ◊VX * MS-DOS-A [˝ÓÁªJÙ 

Eı]Áâ¯am◊_ =‰{F EıÃ[˝”X ? 15 + 5 
 Explain, in detail, a WINDOWS operating system. What are the BATCH commands 

in MS-DOS ? 
c) ◊X∂oˆ◊_◊FTˆ ◊[˝◊\ˆ~ Âl˘‰y Y◊Ã[˝aeFÓÁ„XÃ[˝ \…ˆ◊]EıÁ %Á„_ÁªJÙXÁ EıÃ[˝”X f ( %UÔX›◊TˆÃ[˝ ÊY“l˘ÁY‰ªRÙO ) 
 i) a]◊rÙGTˆ %UÔX›◊Tˆ 4 

 ii) [˝Ó◊rÙGTˆ %UÔX›◊Tˆ 4 

 iii) %Á‹ôˆL¤Á◊TˆEı [˝Á◊SLÓ 4 

 iv) =~Ã^„XÃ[˝ %UÔX›◊Tˆ 4 

 v) Eı_ÓÁS]…_Eı %UÔX›◊Tˆ * 4 
 In the context of Economics, for the following heads explain the role of Statistics : 
 i) Macroeconomics 
 ii) Microeconomics 
 iii) International Trade 
 iv) Development Economics 
 v) Welfare Economics. 
d) MS-WORD-A X›‰ªJÙÃ[˝ ÂVCÃ^Á %e`◊ªRÙO ( Paragraph-◊ªRÙO ) ªRÙOÁc˜OY Eı„Ã[˝ Âa◊ªRÙO„Eı ‘Centre Aligned’ 

EıÃ[˝ÁÃ[˝ Yà˘◊Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X * Ac˜O %e`◊ªRÙOÃ[˝ Â`b _Ác˜OX◊ªRÙO ‘Cut’ Eı„Ã[˝ XT«ˆX AEı◊ªRÙO  paragraph 
EıÃ[˝”X A[˝e Âa◊ªRÙO„Tˆ ‘Line Spacing’ ªRÙOÁ ‘double’ EıÃ[˝”X * Ac˜O a+…SÔ Y“◊y‘Ã^Á◊ªRÙO %Á„_ÁªJÙXÁ Eı„Ã[˝ 
Y“ÿôˆÁ◊[˝Tˆ EıÃ[˝”X * 

Paragraph alignment determines how the 
lines in a paragraph appear in relation to the 
left and right margins. The margin is the 
blank space between the edge of the paper 
and text. 

  5 + 10 + 5 
 In MS-WORD type the following passage and do as directed. 

Paragraph alignment determines how the 
lines in a paragraph appear in relation to the 
left and right margins. The margin is the 
blank space between the edge of the paper 
and text. 

 Discuss the procedure of making the text ‘Centre Aligned’. Use ‘Cut’ to detach the 
last line of the text to create a new paragraph with ‘double’ ‘Line Spacing’. 
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Y“U] =w¯Ã[˝ / First Answer : 
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◊•Tˆ›Ã^ =w¯Ã[˝ / Second Answer : 
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2. Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX (Y“◊Tˆ◊ªRÙO %X◊W˝Eı 180 `„å) f 12 × 3 = 36 

 Answer any three questions  (not more than 180 words each) : 

a) TˆUÓ\ˆÁâ¯ÁÃ[˝ GPˆ„XÃ[˝ ÿôˆÃ[˝m◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X * TˆUÓ\ˆÁâ¯ÁÃ[˝ aeÃ[˝l˘„S TˆUÓ\ˆÁâ¯ÁÃ[˝ Y◊Ã[˝ªJÙÁ_„EıÃ[˝ \…ˆ◊]EıÁÃ[˝ 

[˝ÓÁFÓÁ ◊VX * 8 + 4 
 What are the different components of Database Management System ? In this regard 

discuss the role of Database Manager. 

b) Ms-Access aZÀıªRÀÙOCÃ^ÓÁÃ[˝-A XT«ˆX ◊Lp˚ÁaÁ ÈTˆ◊Ã[˝Ã[˝ Yà˘◊Tˆm◊_ y‘]ÁX«aÁ„Ã[˝ [˝SÔXÁ EıÃ[˝”X * Ac˜O Âl˘‰y 

◊X[˝ÔÁªJÙEı ◊Lp˚ÁaÁ %ÁÃ[˝ Y◊Ã[˝[˝Tˆ¤Eı ◊Lp˚ÁaÁ Eı›, TˆÁ =VÁc˜Ã[˝S ◊V„Ã^ %Á„_ÁªJÙXÁ EıÃ[˝”X * 5 + 7 
 In Ms-Access, sequentially discuss the steps of creating a ‘Query’. In this regard, 

with examples explain ‘Select Query’ and ‘Update Query’. 

c) AEı◊ªRÙO ◊XÃ[˝›l˘S Yà˘◊Tˆ ◊c˜aÁ„[˝ "%◊\ˆp˚ ]TˆÁ]Tˆ' Yà˘◊Tˆ◊ªRÙOÃ[˝ [˝SÔXÁ ◊VX * Ac˜O Yà˘◊Tˆ◊ªRÙOÃ[˝ a«◊[˝W˝Á C 

%a«◊[˝W˝Ám◊_ [˝SÔXÁ EıÃ[˝”X * ÂQˆ_◊Zı Yà˘◊Tˆ [˝_„Tˆ Eı› Â[˝Á„MıX ? 4 + 4 + 4 
 In a Survey Method, explain ‘Expert Opinion’ Method. Discuss its advantages and 

disadvantages. Also, describe the ‘Delphi Method’. 

d) X›‰ªJÙÃ[˝ TˆUÓm◊_ ÂU„Eı ‘Least Square’ Yà˘◊TˆÃ[˝ ]ÁW˝Ó„] a[˝ÔÁ„Yl˘Á =Y^«N˛ (best fit) aÃ[˝_„Ã[˝FÁÃ[˝ 

a]›EıÃ[˝S ◊XSÔÃ^ EıÃ[˝”X * 

  [˝ªK˜Ã[˝ =dYÁV„XÃ[˝ ]ÁX ( ’000 ) 
  2001 65 
  2002 80 
  2003 84 
  2004 75 
  2005 77 
  2006 71 
  2007 76 
  2008 74 
  2009 70 
  2010 68 

 Ac˜O TˆUÓm◊_ ÂU„Eı 2012 aÁ„_Ã[˝ aïˆÁ[˝Ó =dYÁV„XÃ[˝ Y◊Ã[˝]ÁS ◊XSÔÃ^ EıÃ[˝”X * 10 + 2 
 From the information given below, using ‘Least Square’ technique, determine the 

line of best fit. 
  Years Production ( ’000 ) 
  2001 65 
  2002 80 
  2003 84 
  2004 75 
  2005 77 
  2006 71 
  2007 76 
  2008 74 
  2009 70 
  2010 68 
 From this data, calculate the expected estimated level of production for the year 

2012. 
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e) Y“ÁU◊]Eı C È•Tˆ a]aÓÁ Eı› ? È•Tˆ a]aÓÁ ◊X]ÔÁ„SÃ[˝ Yà˘◊Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X ( AEı◊ªRÙO aÁW˝ÁÃ[˝S 

=VÁc˜Ã[˝„SÃ[˝ aÁc˜Á„^Ó ) * 4 + 8 
 Discuss the concepts of Primal and Dual Problems. Explain the process of 

constructing the Dual Problem. ( Take any general example ) 

f) \ˆÁÃ[˝Tˆ[˝„bÔÃ[˝ 10◊ªRÙO Y“„V„`Ã[˝ LXaeFÓÁÃ[˝ %ÁX«]Á◊XEı ]ÁX ÂVCÃ^Á c˜_ * Am◊_„Eı Excel-AÃ[˝ 

Worksheet-A ◊_◊Y[˝à˘ EıÃ[˝ÁÃ[˝ Yà˘◊Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X * 

  %μ–˘Y“„V` 75727541 

  %Ã[˝”SÁªJÙ_ 10911171 

  ◊[˝c˜ÁÃ[˝ 82878796 

  ªK˜◊≈y`GQÕˆ 20795956 

  ÂGÁÃ^Á 1343998 

  mLÃ[˝ÁªRÙO 50596992 

  c˜◊Ã[˝Ã^ÁXÁ 21082989 

  ◊c˜]ÁªJÙ_ Y“„V` 6077248 

  MıÁQÕˆF≥Qˆ 260909428 

  EıXÔÁªRÙOEı 52733958 

 =Y„Ã[˝ÁN˛ Worksheet ÂU„Eı 10◊ªRÙO Y“„V„`Ã[˝ LXaeFÓÁÃ[˝ Â]ÁªRÙO ]ÁX C GQÕˆ ]ÁX Â[˝Ã[˝ EıÃ[˝”X * Excel-A 

ÂEıÁX Y“„V„`Ã[˝˝ LXaeFÓÁÃ[˝ ]ÁX a[˝„U„Eı Â[˝◊` TˆÁ ÂEıÁXÀ function-AÃ[˝ aÁc˜Á„^Ó Â[˝Ã[˝ EıÃ[˝Á ^ÁÃ^ ? 

AªK˜ÁQÕˆÁ Excel-A ÂEıÁXÀ function-AÃ[˝ aÁc˜Á„^Ó A◊ªRÙOÃ[˝ ÂÃ[˝FÁ◊ªJÙy ÈTˆ◊Ã[˝ EıÃ[˝Á ^ÁÃ^ ?  4 + 4 + 4 

 From the data given below across 10 states in India of their population, explain the 
process of feeding the data in the tabular form in the Worksheet. 

  Andhra Pradesh 75727541 
  Arunachal Pradesh 10911171 
  Bihar 82878796 
  Chhattisgarh 20795956 
  Goa 1343998 
  Gujarat 50596992 
  Haryana 21082989 
  Himachal Pradesh 6077248 
  Jharkhand 260909428 
  Karnataka 52733958 
 From these data, calculate total population and average population of those ten 

provinces. In MS-Excel with which function we can find out that which province has 
maximum population ? Besides, with which function of Excel, a graph can be 
drawn ? 
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Y“U] =w¯Ã[˝ / First Answer : 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

  



 QP Code : 20UA21EEC8 13 / 24 B.A.-AU-16027 

   

  



 QP Code : 20UA21EEC8 14 / 24 B.A.-AU-16027 

   

◊•Tˆ›Ã^ =w¯Ã[˝ / Second Answer : 
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T ˆTˆ›Ã^ =w¯Ã[˝ / Third Answer : 
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3. Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX ( Y“◊Tˆ◊ªRÙO %X◊W˝Eı 90 `„å ) f  6 × 4 = 24 

 Answer any four questions  ( not more than 90 words each ) : 

a) ÊY“ÁG–Á] y‘]TˆÁ◊_EıÁÃ[˝ ◊[˝ÿôˆÁ◊Ã[˝Tˆ %Á„_ÁªJÙXÁ EıÃ[˝”X * ( ◊[˝◊\ˆ~ ÿôˆÃ[˝m◊_Ã[˝ Â_F◊ªJÙ‰yÃ[˝ aÁc˜Á„^Ó %Á„_ÁªJÙXÁ 

EıÃ[˝”X ) 6 

 Using programme Flow-chart explain, in detail, the different stages associated in the 
process of writing a programme. 

b) MS-Word-AÃ[˝ View Menu-◊ªRÙOÃ[˝ aÁc˜Á„^Ó Eı› Eı› EıÃ[˝Á ^ÁÃ^ ? 6 

 What one can do using the View Menu in MS-Word ? 

c) MS-Access-A "[˝◊c˜Ã[˝ÁGTˆ' a…y◊ªRÙO Eı› ? Ac˜O a…‰yÃ[˝ ◊XÃ^]Á[˝_› Eı› Eı› ? 2 + 4 

 What is ‘foreign’ key in MS-Access ? What are the rules for using foreign key ? 

d) \ˆÁÃ[˝Tˆ[˝„bÔ ÂGÏS Y◊Ã[˝aeFÓÁ„XÃ[˝ Y“W˝ÁX =dam◊_ Eı› ? Â^ ÂEıÁ„XÁ V«◊ªRÙOÃ[˝ [˝ÓÁFÓÁ EıÃ[˝”X * 2 + 4 

 In India, what are the main sources of secondary data ? Explain any two. 

e) Y◊Ã[˝aeFÓÁ„XÃ[˝ Y“EıÁÃ[˝„\ˆVm◊_ ae„l˘„Y ◊_F«X * 6 

 What are the different types of Statistical Data ? 

f) Benefit Cost Ratio ( BCR )-AÃ[˝ Y◊Ã[˝]ÁS Â[˝Ã[˝ EıÃ[˝”X X›‰ªJÙÃ[˝ aÁÃ[˝◊S ÂU„Eı f 

[˝ªK˜Ã[˝ Â]ÁªRÙO [˝ÓÃ^ Â]ÁªRÙO =Y„^ÁG %[˝c˜ÁÃ[˝ ]ÁX 10% 

2010 50 — 0·909 

2011 50 — 0·826 

2012 — 40 0·751 

2013 — 60 0·683 

2014 — 75 0·621 

 ÂEıÁX Y◊Ã[˝EıîXÁ _◊G¬Ã[˝ Â^ÁGÓ ◊EıXÁ Eı›\ˆÁ„[˝ [˝«Mı„[˝X ? 4 + 2 

 From the table given below calculate the Benefit-Cost Ratio ( BCR ) : 

Year 
Total 

expenditure 
Total benefit 

Depreciation 
(Discount Rate) 10% 

2010 50 — 0·909 

2011 50 — 0·826 

2012 — 40 0·751 

2013 — 60 0·683 

2014 — 75 0·621 

 How can you understand which criterion is suitable for investing ? 
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g) %î EıUÁÃ^ [˝SÔXÁ EıÃ[˝”X  f 

 i) [˝ÓÁ„Ã[˝Á„]◊ÆœÙEı ÂEıÏ`_ 

 ii) %Á„Y◊l˘Eı a+EÔı C Y“TˆÓÁ[˝ ◊w¯ * 3 + 3 
 Briefly describe : 
 i) Barometric Technique 
 ii) Correlation and Regression. 

h) ÈÃ[˝◊FEı ÊY“ÁG–Á◊]e •ÁÃ[˝Á a]aÓÁ◊ªRÙO a]ÁW˝ÁX EıÃ[˝”X f 
 Solve the Linear Programming Problem : 
 Minimize  Z  = 3x + 2y  
 subject to 5x + y ≥  10 
  2x + 2y ≥  12 
  x + 4y  ≥  12 
  x, y ≥  0. 6 

  

Y“U] =w¯Ã[˝ / First Answer : 
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◊•Tˆ›Ã^ =w¯Ã[˝ / Second Answer : 
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T ˆTˆ›Ã^ =w¯Ã[˝ / Third Answer : 
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ªJÙT«ˆUÔ =w¯Ã[˝ / Fourth Answer : 
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